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PHYSICAL EDUCATION - II

IR Brem - I

Name of the Philosophies of Physical

Education which is known as

Experimentation :
(A) Existentialism
(B) Pragmatism
(C) Realism

(D) Paradism

In whose honour were the ancient
Olympic games held ?

(A) Zeus
(B) Apollo
(C) Jupiter
(D) Satan

Physical Education and Sports University

in India are :

(a) TNPES University Madras
(b) LNUPE Gwaliar

(c) LNIPE Gwaliar

(d) YMCA Madras

Find the correct combination.
(A) (a) and (b) are correct

(B) (a) and (c) are correct

(C) (a), (b) and (d) are correct
(D) (a) and (d) are correct

1.

2.

ofifaer foren & <9 =1 T smRe 59 w@m
FHE ST S

(A) HAferEER
(B) HeRIEhdTET]
(C) amdarg
(D) TR

e g o e siifafes @l
ST BT &1 ?

(A) fe=

(B)  aTUeH

€ =R

(D) =

IRa # fifoes fan v Wergs gfrafdfest € ;

(a) TNPES Jfafiet mgm™
(b) LNUPE Tafeiat

(c) LNIPE Taferat

(d) YMCA wg™

W& WIS F1d HI

(A) (a) 3R (b) W €1

(B) (a) 3 () W ¥

© (), (b) ¥R () T& T
(D) (a) 3R () & §1
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Sequence of Indian Athletes securing
medals only in Individual events in
Olympics :

(A) Abhinav Bindra, Leander Paes,
Karnam Malleswari

(B) Leander Paes, Karnam Malleswari,
Abhinav Bindra

(C) Karnam Malleswari, Abhinav
Bindra, Leander Paes

(D) Karnam Malleswari, Leander Paes,
Abhinav Bindra

Heart rate is defined as :

(A) Quality of blood pumped away by
heart in one minute

(B) Number of systolic contractions per
minute

(C) Number of diastolic contractions
per minute

(D) Number of heart contractions per
minute

FHifcrtaen  hael safmd Gl § i gt
A AR AT TR o We) ST §

(A) stfwe fa=r, fedweT 9w, &

Hoeigad

(B) TerdreX tw, w9 Hewvad), i
forzr

(C) w9 Heerwer, sifma farg, fed=
T4

(D) A Hoowed, fadeet I, stfim
IEE-|

ﬁi‘eaﬁvﬁﬂm%

(A) B EN T faee H afqd T i o

(B) wldafe fa=ifeis Hep=m ! Hem

(C) wfafe sERifas = # Gem

(D) Wfafae 81 S%aw =t e
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Knee joint is formed with combination of
following bones :

(a) Femur (b) Tibia
(¢) Radial (d) Ulna
(e) Fibula

Code :

(A) (a), (b) and (e)
(B)  (a), () and (d)
(©) (), (c) and (d)
(D) (@), (¢) and (d)

Slow twitch muscle fibres are
characterised by :

(a) Great cross-sectional area

(b) Greater Kreb cycle enzymatic
capacity

() Low nerve conduction velocity
(d) Greater glycolytic capacity
Select the right combination.

(A) (a), (b) and (d)

(B) (b), (c) and (d)

(C) (b)and (c)

(D) (b) and (d)

71 =gl 9 9 forees Haem @ g2 & S
1 oo g ® 2

(a) R (b) fefomm
() emw (d) se
() Twgem

EEE

(A)  (a), (b) 3R (e)

() (), (0) IR ()

€ ), () 3 ()
(D) (a), () 3 (d)

T Zfaa Aeia wgeR i foifta foman s
g:

(a) T~ GRS TRAT
(b) U /A Tk TSgHIH F&THaT §

(c) < T8 HreRH o9 H

(d) IR TORHIARACE FeEEd o
TE TS T FIT B |

(A) (), (b) 3 (d)

B) (®) (o) I (d)

© () M ()

D) (b) 3R (@)
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10.

Cramps are caused because of : 8.
(A) Lack of fitness for the task

(B) Lack of fluid

(C) Lack of sleep

(D) Lack of rest

Ability to overcome resistance or to act C 3
against resistance under condition of
fatigue :

(A) Maximum strength
(B) Strength endurance
(C) Explosive strength
(D) None of these

Identify therapeutic exercises from thelist  10.

given below :

(a) Trampoline

(b) Active assistance exercise
(c) Suspended exercises
(d) Passive exercises

(e) Plyometric exercises
Code :

A) @, (@

B (© @

© ®), (D

D) ®) (e

ST M o BRI

(A) fearit w1 & fau freig 9 etumE
(B) WIES g I HWE

(C) =1 1 21w

(D) W 1 AYE

hTH ! S o T=<TIa ek & fowg e
FH Sl ﬁwmwmﬁaﬁ%m
FEA T -

(A) fysan wifem
(B) e T
(C) favmres s
(D) 98 =g T

=1 =it & Suegfess s w6 vew ity |

(a) ZrEHTARH

(b) fhen Wera =W
(c) Taafiea samam
(d) TR =rm
(e) TerEmd® =M™
e

(A) (@), ()

(B) (o) (d)

(© () (d)

(D) (b), ()
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11.

12.

(a) Goniometer measures flexibility. 11.

(b) Spirometer measures vital capacity.

() Dynamometer measures angle of

pull.

(d) Sphygmomanometer measures
heart rate.

Find the correct option :

(A) (a) and (b) are correct
(B) (b) and (c) are correct
(©) (c) and (d) are correct

(D) (a), (b), (c) and (d) all are false

After sports injuries, the line of treatment ~ 12.

in physiotherapy includes :
(@) Infrared (b) Massage
() Ice Packs (d) Elevation

() Compression (f) Rest
Code :

(A) (a) and (b)

(B) (a), (b) and (c)

(C) (o) (b), (a) and (e)

(D) (c) (e), (d) and (f)

(a) IR wiwRifafafe = A =
gl

(b) TATEIHISY STEL &A1 T HIGT
.

(c) SEAHMIR WTeT 31T et 1 |19 &
gl |

(d) Wl@ﬁﬁa‘sﬁtmwm

@ forsped 97

(A) (a) 3R (b) W& ¥

(B) (b) ¥ (c) W ¥

Q) (c) 3R (d) T T

(D) (), (b), (c) 3R (d) |}t 7Tt &1

WY Tl % 9vawE, frsieferdt 3w

%t Y  wimfem da E -

() ¥RE (b) T
(c) omE T= (d) TefawE
() HHEH H =
e :

(A) (a) ¥R (b)

(B) (a), (b) ¥R (c)
(©  (0), (b), (a) ¥R (¢)
D) (@) (@), (d) 3K (@
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13.

14.

Make the correct choice from Assertion (A)

and the Reason (R) given below :

Assertion (A) :

Sfabi]ity of an object is greater when its
weight is greater and centre of gravity is
higher.

Reason (R) :

“Stability of an object is greater when its

weight is greater and the centre of gravity
is lower.

Code :

(A) (A) is true, (R) is false

(B) (A) is false, (R) is true

(©) (A) and (R) both are correct
(D) (A) and (R) are incorrect

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) :

Anxiety helps to improve sports

performance.

Reason (R) :

Moderate anxiety helps to improve sports

performance.

Code :

(A) Both (A) and (R) are true (R) is not
correct explanation of (A)

(B) (A) is false, (R) is correct

(C) (A) is correct, (R) is false

(D) Both (A) and (R) are true (R) is
correct explanation of (A)

13.

14.

AFUHIT (A) T HRUT (R) ¥ T& ey
%< q ghw|

AfuwaT (A) :

forelt ot o =t e ot aifrer ot ¥ 5w
THHN UR 3Mfyeh & qU1 FT o Al
A

R (R) :

ToReft off og ot feorar aoft sifre Ot & o=t
THH AR A B 90 F1Y T HH A |

%<

(A) (A) T %, (R) 39 ®1
(B) (A) 38 §, (R) ¥ T
©) (A) 3R (R) I T F
(D) (A) 3R (R) ST /e €1

AFUHYT (A) T HIOT (R) & TR S
%o A W ¥ e 52 Q@ wd s =
ShifTT |

AfHIF(A)

WreTget TEH Fruree § were o §1

hIOT (R) :

;ﬁﬁzéﬁmﬁvﬁé\ﬁﬁwﬁmﬁm

|

%<

(A) (A) 7a1(R) T & €, A (R), (A)
I T AR T 8

(B) (A) 39 ¥, (R) ¥ ¥

(C) (A) 99§, (R) 318 B

(D) (A) 91 (R) 3l §A T, T (R), (A)
F T A
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15. Match List-X with List-Y :
(@) Autogenic (i) To reduce anxiety
training

(b) . Meditation (i) Suggestion to the

-+, training mind
(c) Imagery (iii) Concentration
training

(d)" Mental Skill (iv) Mental process
“training
Code :
@ () () (@
(A) @) @ @) @
(B) @ (@) @) @
© @ @ @
O) @ @) @) @)

16. Arrange the stéges of development listed
by Ross :

(a) Early childhood

(b)y Infancy

() Adulthood
(d) Adolescence

(e) Later childhood

Choose the correct option of stages.
A) @ © @), @), ®

(B) () © () @), @

©)  (d), ®) (&) () ()
(D) (), @), (e), (), (©)

(a) siférafs 2R ()
(b) Afee IFT (i)
(© W )
@) e 3 i)

E TR

(@ (b) (9
(A) @) @) @)
(B) @@ @) ()
© ) @ @
D) @ (@) (i)

H

() e~
(b) IrETEE

(c) R

(d) e

(e) SUX-SIcHTERRAT

W& =0 1 fowed o |

15. gt -X & ger - Y 9 fhemse

TS & &
fe
HiGTSh Gl

Enau

HAfaes i

@
()
0
(i)
()

16. U9 g Yias faehm & =l o =g

(A) (@), (c) (d), (e), (b)
(B)  (b), (©), (e), (a), (d)
©) (@), (®) (e) (©) (a)
(D) (b), (@), (e), (d), ()
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17.

18.

19.

‘Which is not a part of law of learning ?
(A) Readiness

(B) Forgetting

(©) Effect

(D) Exercise

Assertion (A) :

The school administration is expected to
take proper initiatives for health care
management of school children.

Reason (R) :

The National Education Policy (1986)
recommended to integrate physical
education and sports in Learning Process
of School Children.

Code :

(A) Both (A) and (R) are correct but (R)
is not correct explanation of (A)

(B) Both (A) and (R) are correct and (R)
is correct explanation of (A)

(C) (A} is correct but (R) is false
(D) Both (A) and (R) are false’

In Education what is most effective by
individual differences among children ?

(A) Curriculum

(B) Timetable

(C) Teaching Methodology
(D) Teacher appointment

17.

18.

19.

1= F = it e o5 v A R
(A) e

(B) e

(C) wuE

(D) RS

AR (A)

RS JUE TR F S ¥ R S wpedt
T % W@ @I & foeru sfad v #¢ )

hIROT (R) :

Tty fan fif (1986) 3 fawie =t & 5
el =il o SAfem yiwan A yriftes faan
3R EF-%g T FHEYE foRa S|

E TR

(A) (A) T (R) S W& €, T (R), (A)
St T AT T R

(B) (A) T (R) I Wl &, 49 (R), (A)
i TE e R |

(©) (A) T & W (R) Terdl B
(D) (A) T (R) B Tord §1

e o, =t & <= saferava wave) @ watfus
JTeTE! R 8 ?

(A) uR&=El

(B) 9T URU

(C) &9 & Wk
(D) Torers Frgfert
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20. Match the fbllowing by using code : 20. Trafafaa =i e & SYANT § AT it

List-T List-II T - 1 g -1
(a) Experimental (i) Prevent injuries (a) TR TR (i) Wﬂ'ﬂv‘rﬂﬁﬂ
Psychology and Enhance e H gfg s
performance gl
(b) Educational (i) Helps individual () fTanTAifasm (i) i sye
Psychology in competitive - i & qEad
‘ : experience BRI
() Clinical (iti) Deals with () Torira (i) ¥y wE H R
Psychology research AT AR,
(d) Developmental (iv) Impart (d) TowrEig wHifa™ (iv) 9 died g1
Psychology Knowledge
(v) Study child : (v) =i % SHORR
behaviour ST H
Code : , e :
@ () () (@ @ (®) (9 (@
(A4) Gv) @ @) W) (4 ) @ @@ ©
B) @) @v) @ @ (B @) (v) @ @@
© Gv) @) @O @) © @) @) & @
(D) @) @ @) (@ D) @) @ @) @@

21. Minimum calories réquired for an athlete 21, T uyfee & T eTervas 0 9§ FH e

is . HAE BRI
(A) 500 - 700 (A) 500 - 700

(B) 1500 - 1600 (B) 1500 - 1600

(C) 3000 - 3200 (C) 3000 - 3200

(D) 4000 - 4200 (D) 4000 - 4200

SPACE FOR ROUGH WORK / 7% &1d & fad wig
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22,

23.

24.

The source of complex carbohydrate is

(A) Potato
(B) Sugar
(C) Chocolates

(D) Wheat

When one is exhausted through toil, play
recharges one’s energy for renewed work,

"is propounded by :

(A) Groos
(B) Lazarus
(©) Aristotle

(D) Hall

An adult person is considered obese when
the BMI ranges between

(A) 185-225
(B) <185
© <25

(D) > 28

22.

23.

24.

Sifewt Feilerege F1 A R

(A) 3w
(B) W
(©) e
D)

SIS I HE HRA-F O w6l § 79 q
IGH 7 Foll ol YR FAT L, sﬁﬁmaam
gfaares T

(A) 79
(B) WNR™
(C) T=rea

~y

(D) =

T 9% A7 Her At § o &, 5
IHHT 1. TH. 3, B B

(A) 185-225
(B) <185
© <25

(D) >28
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25. Opening command to start the Judo bouts

2.

is:

(A) Koka
(B)‘ Ippon
(C) Hajime

(D) Warzari

Airange the following mechanical phases
of a 100 m Sprint in order of their
sequence of progression.

(a) Retardation

(b) Quick acceleration phase

(c) Top speed phase

(d) Slow acceleration phase

.Code :

(A) (@), (®), ©), (d)
(B) (@, (), (9, (a)

©) (©. @) (@) ()

.. D) ®) @ @) (@

25.

26.

2 Bl & AR H I IR T ;

(A) HIH
(B) TW
(C) wfsm

(D) AR

100 H. Tz ¥ 30wl & srgwe
el § = Iifien wreeensti ) =9
wifSTa |

(@) e

(b) FF THIAWH TS

(c) <9 EE wS

(d) T THRIRYH s

(4) @), (b), (), (d)
(B) (d), (b), (c), (a)
©) ©) @) @, ®)

D) (), @), (d), (9

SPACE FOR ROUGH WORK / T% & & o g
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27.

28.

Criteria for classification of competition
are :

(a) Level of competition

(b) Age of competition

(c) Mode of organizing competition
(d) Training methodical aspect
Arrange the above criteria in proper and
correct sequence :

(A) (@), (b and (©)

(B) () (o) and (d)

(© () (@ and ()

(D) (@) (a) and (b)

Given below are two statements one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) :

The physical education profession needs

well qualified and dedicated teachers who

have depth and mastery over subjects

‘and skills for demonstration and above

all love for the profession.

Reason (R) :

Teaching profession offers honour and

rewards, provides better financial stability

and a good retirement package.

Find the correct answer :

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of (A).

(C) (A) is right, but (R) is wrong.

(D) (A) is wrong, but (R) is right.

27.

28.

yfaeaet & el o AFEE B ® -

(a) wfaeayt =1 @R

(b) wiaerel At o1y

(¢) wfceasl STEISH 1 e
(d) wf¥em Henfeshar vge]
I ol Wt ST H G

(A) (a), (b) 3R (o)
(B) (b, () 3R (d)
©  (b), (d) ¥R (a)
(D) (d), (@) 3 (b)

AHHLT (A) 7T HIOT (R) | THIfRT
e fed o §)

AfuweT (A) :

i e % 49§ g e ol i
gfraren! ot sTrevEshdl Bt © o v
qof 1 TR TETOTT B § q R i e

& QY- U9 Y we ot e T

/T (R) :

STEATY YT, T SR RERR a0 Jaak foxia

Teora w& w1 Qarenre gl Yo vem

HIAT |

FZ ¥ WE IR F 97T R

(A) (A) 991 (R) SFI € ¥, a1 (R), (A)
I & = ¥

(B) (A) T (R) I ¥A ¥, 71 (R), (A)
I & = T g

(C) (A) ©& R, I4g (R) T

(D) (A) 7o §, T (R) ¥& 21

SPACE FOR ROUGH WORK / % @&Td & ford smig
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29. In a group of students, the scores on 29.

reasoning ability test scale 20, 25, 27, 30,
35, 45 and 60. What will be the 50th

percentile score of the group ?
(A) 26
(B) 23
(G 24
(D) 30

30. Correlation coefficient between physical 30,

fitness and mental health was found to
be 0.62. It means that :

(A) Strong positive relationship
between physical fitness and mental
health

(B) No relationship between physical
fitness and mental health

(C) Weak but positive relationship
between physical fitness and mental
health

(D) None of the above

31. What is the Standard Deviation of the 31.

following series 4, 12, 16, 22,9,11:
(A) 4.15
(B) 6.25
(C) 6.55
(D) 6.15

BT % THE W STenfeen St wham iy
HHA: 20, 25, 27, 30, 35, 45 3R 60 T
1 50 9 YIS 375 I B Y

(A)
(B)
©)
(D)

26
23
24
30

W Terar qen wEfas weeg & ¢
TEHSY U 0.62 R T THHT 37

(A)

(B)

©

(D)

IR S&7aT TE A e &
YIS T RS Hedsy

IR garan v HrfaE mren ¥ 1
g Gey I

IR ger we wHtas wreea ¥ T
YR foheg FUSIR GeEay

SR H 9 B T

Fr=fafaa it &1 wmes fagem o= B
4,12,16,22,9,11 :

(A)
(B)
©
(D)

4.15
6.25
6.55
6.15

SPACE FOR ROUGH WORK / T% &1 & ol Wi
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32.

33.

34.

Median Spearman’s coefficient of 32.

correlation and Chi-square test are

examples of :

(A)
(B)
(©)
(D)

(A)

(B)
©
(D)

The combination of two factors responsible ~ 34.

Inferential Statistics
Non Parametric Statistics

Parametric Statistics

All the above

‘Spinograph is used to assess . 33.

BMI

Body type
Posture

Body mass

for cardiovascular test :

(a)
(b)
(©)
(d)

Treadmill
Muscular strength
Response time

Oxygen consumption

Code :

(A)
(B)
©)
(D)

(@), (b)
(b), ()
@), ()
(d), (@)

T o Tesey W@rm‘s‘vﬁm
Y07 ST © :

(A) Trvies wiferent
(B) IHTeR WileHreh
(C) = Wit

(D) 9 weft

A & e B SEn
qAMRI

(A) S1UASTE.

(B) i 2wy

© T

(D) et "™

FEqEF S F fau Sert & el
F FASH €

(a) ozHIa

(b) e e

(c) widfshan w9

(d) SAfedlisH =g

E TR
(A) (a), (b)
(B) (b), ()
© @), (9
(D) (d), (a)

SPACE FOR ROUGH WORK / T% &8 & o wie
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35. Given below are two statements one 35. STFUERT (A) T HIUT (R) SN A o

labelled as Assertion (A) and the other g e & TN q gdt W g

labelled as Reason (R).

Assertion (A) : AR (A)

Evaluation helps in performance Teisha e gfs § wemEes 5l %nl

enhancement. :

Reason (R) : IOT (R) :

Evaluation is continuous process. ‘ '-j\c'*‘ll'chﬂ T 9ad gishar e

Code : %<

(A) Both (A) and (R) are true, but (R) is (A) (A) @ (R) SF1 9@t €, TG (R)
not the correct explanation of (A). ! & e T

(B) Both (A) and (R) are true and (R) is (B) (A) @ (R) I W&l ¥ &R (R)
correct explanation of (A). FI U = R

(C) (A) is false, (R) is true. (C) (A) 39 g, Y (R) T T

(D) (A) and (R) are false (D) (A) T (R) S 319 T |

36. Match List - I with List - II : 36. G - I 3R Wt - 11 ! THemsy

List - I List - II e - 1 g - |

(a) Basketball () Harbans (a) STEheETS () TEE

(b) Hockey (i) Dyer (b) Tl (i) O™

(c) Soccer (iii) Johnson () 9 (iii) STTEA

(d) Tennis (iv) Warner @ <f= (iv) R

Code : %< :
@ (®) () (@ @ () (9 (9

@ O @ @ @ @) O @ @ @

® @ 6 O @ B @ O @

© @) @ @) @ ©) () @ @) @

D) @ Gv) @ @) (D) @ @) @ (@)

SPACE FOR ROUGH WORK / % @14 @ fo& sWig
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37.

38.

39.

" The earliest term used for management

was :
(A) Organization
(B) Coordination
(C) Direction

(D) Administration

What plays a pivotal role in the total
teaching-learning process ?

(A) Facilities
(B) Teacher’s personality

(C) School tag
(D) Curriculum syllabus

Given below are two statements one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) :

Intramural programme should be an

integral part of the physical education

programme in the institution.

Reason (R) :

Sports for all works as a method of

inculcating health, fithess and wellness in

institutions.

Find the correct answer :

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right, but (R)
is not the correct explanation of (A).

(©) (A) is wrong, but (R) is right.

(D) (A) is right, but (R) is wrong,

37.

38.

39.

WeEH o fo gy qd ue e ;-

(A) FTS
(B) HH=
(C) feemfdw
(D) WA

Teput sreree-Sfm yiwer 8w S
fHeRT e 2

(A) gfaend

(B) Toarer o1 Al

€ wa e

(D) il gt

AFUHLT (A) T HIOT (R) & THIRRT &
CRERCCRICE S

AR (A)
el § SRRl wwE R Ren
SHIAHH N THT 9N B A1

I (R) ;

weensii # it e & fore, widw = e,

freTq qon Ao ® TE fafy ¥ w9 A

wftwfera fean s =nfew)

& W g

(A) (A) T (R) 3 ¥ ¥ iR (R), (A)
= G& R §

(B) (A) oI (R) ST W& € R (R), (A)
T TE = T

(C) (A) e §, R (R) T& T

(D) (A) ¥&l 8, I (R) Terd §1

SPACE FOR ROUGH WORK / 1% &t & ol s
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40.

(@)

(b)

©

(d)

41.

Match List - T with List - II and find the
correct option using the codes given

below :

List - I List - IT
Public Sector (i)  Indian Olympic
Organization Association
Private (i) Jaipur Polo Club
Organization :

Sports Club (i) Sports Authority
of India
Sports (iv) School Games
Association Federation of
India
Code :
@ 0 © @
() @ ()

(A) ()
(B) @@ @) @ @)
© @) O @@ ()
D) @v) @) @) (i)

Identify the correct sequence of
chronology of Olympic venues :

(a) Paris

(b) Rome

(c) Montreal

(d) Berlin

Find out the correct answer from the
following codes :

(A)  (b), (d), (@), ()
(B) (@), (d), (b), ()
©  (b) (©) (), (a)
(D) (), (@), (), ()

40.

@)

(b)

(©)

(@)

41.

el - 19 g - 10 % g gafea #iRn

e e e % 3w @ wé sw g

et - 1 et - 11

e & () sfed oifafes

HTeT T

fsit dem (i) AR G I

) e SR s
gfean

W TR (iv)  SRel T e
e gfea

<

@ (b) (0 (@
(A) (v) @) (@) @)
(B) () @) () (i)
© @) () @) (@

D) @) @O @ ()

st G T el 1 HE ¥
HE ST F Ty

(a) Ufw

(b). T

(c) wiraw

(@ afel

=1 e 9 W& SW T Hifsm|

(A) (b), @), @) ()
(B) (@), (D, (), ()
©) (), (9 (@), (a)
(D) (d), @), (®), ()

SPACE FOR ROUGH WORK / T% &1 & o3 e
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42.

43.

44.

Sequence of events in the modern
Pentathlon Olympics :

(A) Shooting, Swimming, Cross

Country, Fencing,i Riding

(B) Fencing, Shooting, Cross Country,

Riding, Swimming

Swimming, Shooting, Fencing,
Cross Country, Riding

©)

(D) Riding, Fencing,

Swimming, Cross Country

Arrange the Olympic venues in
Ascending order of years in which they
were held

(&)
(B)
©)
(D)

Sydney, London, Athens, Beijing
Sydney, Athens, Beijing, London
Athens, Sydney, Beijing, London

Beijing, Sydney, Athens, London

What was the Main Motto of Rio-
dejaneiro 2016 summer Olympics ?

(A)
(B)
©
(D)

One World, One Dream
Live As One
Live Your Passion

None of the above

Shooting,

42,

43.

44.

Yk Yrreera AT # edl o1 9
ITHA T -
(A) e, whfhm, s s, Hrdi, TEfe

(B) T, gfem, shia e, e, wifi

(C) w=RTH, g, Seeli, shid hel, WEfe

(D) usfen, St Ifen, Teifhm, | &=

Fre1 sfferfiaer sre et sl 51 9o o 5
9 3TN 1 T § ST b H Oy

(A) fasf, <e, wamg, fosiin
(B) fas, wamy, fosiin, dic
(C) s, fae, fosiin, ofea
(D) farsii, faei, v, &g

Rh-SoPfReN 2016 TR SATATTRY 16
Hier /T o1 ?

(A)
(B)
(C) To= IR T=m
T8 Ig T

Weh ST, Ueh |91

ER SR

(D)

SPACE FOR ROUGH WORK / T% &/ & f&d g
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]

45. The first Asian games were held in : 45,

(A) Pakistan
(B) Japan
(C) China

(D) India

46. Match the following years with the  46.

venues of Olympic games :

List -1 List - II
(a) 1948 (i) Moscow
(b)y 1980 (i) London
(c) 1988 (i) Rome
(d) 1960 (iv) Seoul

Find out the correct answer from the
below code :

@ () (o9 (9
(A O @ @) @@
(B) @ @ Gv) ()
© @ @ @) Gw)
(D) @) @ @) @

YerH WA W 1 SIS |
I

(A) e
(B) A
(C) =M
(D) ¥Rd
Frefafaa anf =t siifafios T geT s
 gAfad sifse

gt - 1 et - 11
(a) 1948 () W@
(b) 1980 (i) <&
(c) 1988 (i) T
(d) 1960 (v) Tasia
11 2 @ W& W T HifS |

@ () () (d)
(A) O @) @) @)
(B) @ @ (v) ()
© @ @ @ ()
(D) @) @@ @) @

SPACE FOR ROUGH WORK / T% &M & fed g
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47.

48.

49.

Select the correct option - During
strenuous exercise, the major reason for
onset of fatigue is :

(A) O, debt
(B) Depletion of O,
(C) Lactic acid formation

(D) Increase the CO, level

Select the correct choice - Blood from
right ventricle of the heart is taken to the
lungs for purification by :

(A) Hepatic Artery
(B) Renal Artery

(C) Coronary Artery
(D) Pulmonary Artery

Internal training load is judged by :
(a) Load volume

(b) Heart rate

(¢) Load intensity

(d) Lactic acid concentration
Code :

(A) () and (b)

(B) (@) and (0)

(©) () and (¢)

(D) (b)and (d)

47. 3N AW ¥ IRMA, W?ﬁﬁ?ﬂg@

48.

49.

EFITUT%:
g ey gy

(A) O, <=

(B) O, ® &

(C) ifees wHie w1 frmfu
(D) CO, R # gfg

e % T A U T 1 HS H e
351'\6!"'{ WW%:
TE IR H TG T

(A) Eifew 1 g
(B) f&er e g
(C) I T gra
(D) TR A g

AR TFI&T0T YR KT 9l ST -

(@) TS A % R

() TEEFgm

(c) TS Yo % g

(d) wifes TEe & iz gr
e

(A) (a) 3R (b)

(B) (a) 3R (q)

© () 3R (9

(D) (b) 3R (d)

SPACE FOR ROUGH WORK / T% &Td & ford sig
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50.

51.

Assertion (A) : 50.

Lymphatic Vessels in the skin follow
veins.

Reason (R) :

Lymphatic Vessels with viscera follow
arteries.

Code :
(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A) is false, but (R) is true.

(D) (A) is true, but (R) is false.

Arrange the following body parts in  51.

descending order.
(@ Cell

(b) Tissue

() Organ

(d) System

Code :

(A) (@), (), (), (d)
B) (), () (B) (a)
© (@, (), (@), (b)
(D) (0), (@), (@), (9

AUFRAT (A) :

@ H ferdhfze afeenrd fausti w1 orm
FT T

T (R) :

AT ¥ W fadsfes sfgwd D 9
ST A B

HE :
(A) (A) T (R) 2F ¥ §1
(B) (A} e (R) 3T aret €1
(©) (A) 39 8, T (R) ¥F B
(D) (A) & 8, T (R) 379 B

Frfafad v & 7 w1 TaE A -
TR

()

e

(A) (@), (b), () (d)
(B) (), () (b) ()
©) (9 (@) (@), (b
(D) (b), (@), (d), (©)

SPACE FOR ROUGH WORK / T &Td & &9 s
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52.

53.

54.

Use the correct code given below : 52,

Sequential route of deoxygenated blood

1s:
(a)
(b)
(©)
(d)

Right Auricle
Lungs
Right Ventricle

Left Auricle

Code :

(A)
(B)
©
(D)

Common injury to the footballers is : 53.

(A)
(B)
©
(D)

When

(@), (), (o), (d)
(@), (). (b), (d)
(d), (b), (@), ()
(b), (@), (c), (d)

Lateral collateral ligament of knee
Head injury

Medial menisens

Interio lateral ligament of ankle

agonist muscles

antagonist muscles relax, it is called :

(4)
(B)
©)
(D)

Reciprocal innervation
Eccentric contraction
Concentric contraction

None of the above

contract 54.

71 %z 1wl swd wife-festadier
T 1 STHTe &M &

(a) Heifeiicl
(b) TTEE

(0) el EECaS]
(d) T e
e

(A) @, (®), (9, ()
(B)  (a), (). (b), (d)
© @ ®), @ ©
(D) (b), (). (), (d)

Feaa fgeniedl § arit W W ot
Tl B B
(A) ST-Hicrewe fermmie sifw

- (B) TR

(C) Tafsaar #+id=g
(D) TR deta fommie 3w e

TS N AT wpfad Bt ¥ < wfrarered
vt At fdew w7t §1 < wer s
?:

(A) Rfadrra FREvH
(B) THI® HeRM
©) HUEH FwH
(D) IR & g TE

SPACE FOR ROUGH WORK / 1% &Td & o wig

24

0128/ TFU-PHED/ ELG-II



55. Therapeutic exercise seeks to accomplish ~ 55. SRTfesh = 1t wieat =t wiftd =i € «

the following goals :
(a) Enable Ambulation (a) SIS TR
(b) Improve Co-ordination (b) THE HI-SEIE
(c) Improve Circulation (c) 9@ ThelvH

(d) Reduce Rigidity (d) Tegm f=ifed
Code : Fe

(A) (a) and (b) (A) (@) 3/ (b)
(B) () (© and (@) B ®)© (@
(C) All of the above (C) SR |t

(D) (c) and (d) (D) (0 ¥R (d)

56. Bonesinhumanbody are classifiedonthe ~ 56. HMa I T gfgdl 1 SiieRtr =1 SR 0

basis of : 72

(@) Size (b) Shape (a) EBS (b) 4
(c) Structure (d) Function (€) TFR (d) e
Select the correct answer : T TR G

(A) (a) and (b) (A) (a) ¥ (b)

(B) (b)and () (B) () ¥ ()

© (9 and @ © (© R @

(D) (d) and (a) D) (@ ¥R (a)

SPACE FOR ROUGH WORK / T% &4 & fe19 sg
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57.

58.

(b)
©
(d)

Kinematic parameters include :
(a) Inertia

(b) Velocity

(c) Distance

@
Find the correct combination :
(4) @, ®), (9

(B) (@), (o) (d)

©) (@, (b), (@)

(D) (b), (0), (d)

Acceleration

Match the List - I with List - IT and select
the correct option using the code given
below :
List - I List - IT
Vastus Internus (i)  Knee Flexion
Biceps Femoris (i)

i
@

Hip Extension
Middle Deltoid Knee Extension

Shoulder
Abduction

Gluteus
Maximus

Code :

@ ) ( (@
(4) @) @ @) (@)
B @& @) @)
© @) @ @) @
@) @ @) @ @)

57.

58.

(a)
(b)
©
()

Fgafes Yifery o wftufem §
(a) frfSEaan

(b) &

(© T

(d) w7 ;

W ST H 91 HIC

(A) (), (), (9)

(B) (@), (), (@)

© (@), b), (d)

(D)  ®), (), (d)

el - 10 e - 11 9 fremse qon frer 5
T w& foswew =1 g

gt - 1
AR T (i)
SRR HAGE (i)
free S<e
TN Rfemy

T - 10

A v
H T
YNTE T

%

@ () () (@
(A) @) @
(B) @
© () @)
(D) (@)

SPACE FOR ROUGH WORK / 1% &1d & & e
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59.

60.

61.

Who propounded the attribution theory
of motivation ?

(A) TJackson
(B) Parson
(C) Ahmad
(D) Wiener

Eysenk given four dimensions of
personality represents by :

(A) PEEN
(B) PENL
(C) PENP
(D) LPNA

In the personality assessment projective

test are considered :

(a)  Rorschach Ink-blot test
(b) MMPI

(€)' Cattell 16 PF
)

(d) Eysenk
(e) TAT
Code :

(4) (a) and (e)
(B) (b)and (c)
(C) (a) and (d)
(D) (e).and. (b)

59.

60.

61.

ﬁm%wmﬁwwﬁwmﬁﬁm?

(8) S
(B) R
(© swe
(D) TR

3ESIoh o =R Sfrc fammedl s freau fead
BRE?

(A) PEEN
(B) PENL
(C) PENP
(D) LPNA

feHTea YodTeh Wifgea o H feraen femm
[ERIECIIE

(2) T -t T

(4) (a) 3 (o)

(B) (b) W ()

© (@ (@ |

D) (e) () L

SPACE FOR ROUGH WORK / T% &1 & &9 wrg
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62.

Match List ~ X with List - Y :

U List= X

(b)
©
L@

Personality
Aggression
Attention

Learning

Code :

@ (b)

@ 0 ®

63.

(@)

o)

(©)

1Ad)

(B) @) @

€ @) (@v) (@

D) @) @

List-Y
(i)  Frustration
(i) Ego
(iii) Observation

(iv) Focus

Match List - X with List - Y :

List - X
Thinking
Readiness

Bio-feedback

Problem solving (iv)

Code :
(@) (b)
(A) @) @

(B) (@) (i)
(O ® @

. D) @)@

List - Y
(i) Learning

(ii) Relaxation

(iii) Cognitive process

Intelligence
© @
(@) (i)
0w
() (i)
) W)

(A @

(B) (i)
(©) (i)
(D) ()

(A) ()
(B) (i)
© O

(D) (i)

(b)

@)

(i
(@
0

@
(i)

(iv)

(i)

SPACE FOR ROUGH WORK / 1% &/ & ford w1re
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64.

65.

Asseration (A) :

Anxiety is equated with fear, practising

and competing sports-persons,

irrespective of their sex and age, tend to
have variety of fears at all stages of their
sporting career.

Reason (R) :

Anxiety can be reduced by using
biofeedback technique.

Code :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A)is true and (R) is false
(D) (A) is false and (R) is true

Which of the following statement is not
correct ?

(A) Physique is the primary dimension
of human personality
(B) Emotional dimension of an

individual singularly determines
the personality

(©) Human personality Iloses its -

meaning of conceived without the

mental and intellectual dimension
(D) Sociability is a very important

dimensions of personality

64.

65.

R (A) :

fodr A T F TUH TET TN 1 SRR
T T faenet e o fwdt o fa oten
g ¥ 8 Tt edfdn e ¥ W weH
3 YR o WY Ioh! Haral ol

I (R) :

TEATRIEses gfaty gry foar = w8 fowan <
Tl B

he
(A) (A) T (R) S ¥ § 3R (R), (A
i e e

(B) (A) W (R) EFI ¥ § WY (R), (A
T G SARe T R

(C) (A) ¥ ¥ 3R (R) 379 B
(D) (A) 35 T 3R (R) ¥ T

forer § Q19 W w9 T R?

(A) HE i w1 wafye |1 wRiR
TS 7

(B) wafe st Wigskhal WY & Afdde 9
o e €1

(C) wWfas iR gfgeie & fomr wm
1 SAfeaee STararon faEi & =it 81

(D) HHITSTERdT safeRTce o1 T i Heaq
ik
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66.

Match the following List - I with List - II
and select the correct answer from the

code given below :

~List -1

(a) Educational
Gymnastics

(b) Turner
Movement

(c) Gladiatorial
Combat

(d) Stade Race

“Code :

@ G ()

(4) (@)
B) @) @) @
© @O @

(D) (@)

@) ()

List - II

(i) Ancient
Olympics

(ii) Rome

(i) Germany

(iv) Sweden

(d)
)

(i)

(iv) (i)

@ @) ()

66. e - 1 1 geil - 11 ¥ gafea sifsw a

= e @ vt 3 v
el - 1 - 1II
(a) TIHIA @ e
(b) TR gEE= () T
( TfeEfE () e
FHSE
@ == (v) =T
He
@ G (© (@
(A) (v) @) @) @
(B) () (v) @) (i)
© O G@ @v) ()
(D) @ @ @) @)
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67. Match the following List - I with List-II ~ 67. at.- I = et ~ II ¥ gAfea wifsre qen
and select the correct answer from code : e e A wd s @y
List - T List - II et - 1 gt - 11
() Curriculum to (i) Students (a) W=l H () Faa ElF
be responsible only EEIEEARIRC] Y ferw
to
(b) The activity (i) Social (b) sfemay wufers () @R
with maximum technological e & aie fafafy LB IUIED]
competitive changes. EHSIE]
element
(c) National fitness (iii) Professionalsonly () T fRetw &g (iti) heel RIE
corp syllabus was 18 <! Henfya fopam o & faw -
modified for
(d) Codes are (iv) Small chasing (d) wfed faawe (iv) e AT
especially game HeIa B g - im
valuable to
(v) Higher Secondary (v) 3= HreAthe
Schools formers
fer
Code : %< :
@ & © @ @ ® © @
(A O @ @) @) (A4 @ @@ @) @)
B @O @ @ () B @& @ @@ ©
© v @ @ @ © v @ @ @O
D) @) @v) (v) (i) (D) @ (@) ) @)
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68.

69.

Following are the main functions of

sports management :
(@) Controlling

(b) Co-ordinating
(c) Planning

(d) Organizing

Find out the correct sequence from the
code given below :

(A) (b), (), (d), (@)
(B)  (9) (d), (b), (@)
©) @ (b))
D) (), @), (), ()

Find the sequence of adjustment to the
physical and social changes of an
Individual.

(a) Physical age

(b) Chronological age
(¢) Mental age

(d) Anatomical age

Find the correct answer from the
following code :

(4) (b), (d). @), (9
(B) (@), () (), (9
©)  (b) (©. @) @
(D) (@) @) (), (©

68.

69.

?ﬁl‘ﬁf@ﬁ@éﬁﬁﬂﬂﬁé&g@w
(@) s
(b) wEIH
() e
(@ wTeT
Wwﬁaﬁwmﬁm:

(4)  (b), (c), (d), (a)
(B) (o) (), (b), (a)
©) (@) b)), ()
(D) (), (@), (), ()

fea & wifes a9n gmfas gfiac
AeT-Hel 1 TIHT [0 BT |

(a) St sy

(b) FrETGHEF Y

(c) wHfa® g

(d) TR 3y

=1 e @ 9 S| I I

(4) (), (d), (@), ()
(B) (), (b), (d) ()
©  ®) (9 (I ()
(D) (@), (@), ®), (©
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70. Arrange the correct sequence for Lesson 70.

71.

B
Plan Timing each part wise.
(a) 8 minutes

(b) 3 minutes

() 12 minutes

(@ 10 minutes

Find the correct answer from the

following code :
(A)  (b), (d), (a), (9
(B)  (a), (b), (d), ()
© (b) (a) (@) ()

(D) (@), (), ), @)

Assertion (A) : 71.

A runner runs without receiving any force

from outside.
Reason (R) :
Force is the cause of motion.

In context of the above two statements,
which one of the following is correct ?

Code :

(A) (A) is right, but (R) is wrong.
(B) (A) is wrong, but (R) is right.
(C) Both (A) and (R) are right.

(D) Both (A) and (R) are wrong.

TRF T ¥ STHER TS P T ¥ wl
TR ! AT SifaT |

(a) 8 fime

®) 3 fie

() 12 fae

(d 10 fae

11 % 9 T& W F1d I

IfweT (A)
Teh HTerh Tohelt Sl 916t o iR e § |

hIUT (R) :
ECARIG TG S
SR s TR i g s wad 2

e
(A) (A) §&l €, g (R) 7o ¢ |
(B) (A) e T, W] (R) WE )
(C) (A) T (R) M @&t ¥
(D) (A) T (R) i Terd €1
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72.

73.

Given below are two statements one 72.

labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

A training load produce super

compensation effect can be used again
further to improve training stage.

Reason (R) :

After occurrence of super compensation,
load should be increased during the next
adaption.

Code :

(A) (A) is wrong, but (R) is correct.
(B) (A) is correct, but (R) is wrong.
(€) Both (A) and (R) are wrong,.
(D) Both (A) and (R) are correct.

Select the correct sequence of continuous 73.

method of training for endurance training

variations.

(a) Fartlek

(b) Changing pace method
(c) Slow continuous method
(d) Fast continuous method

Find the correct answer from the code
given below :

(4) (®), (9, (), (a)
(B) (a), (b), (d), (c)
©) (9, (@), ®), (a)
(D) (@), (b), (o), (a)

ARIFHAT (A) T HIOT (R) F i
FHA fea ™ ¥ |

IR (A) :

i e gm afaufd gama Soqs =
S S fm § o =1 2T =
YUR & faw e s ok &1

NIUT (R) :

Y &fyfd 1t St & I9E SFTe T
T TS gl S =1eT |

%he

(A) (A) T B, 9% (R) W& ¥
(B) (A) W& ¥, T (R) 7o B
(C) (A) U (R) I Tord €1
(D) (A) T (R) SHI w&t ¥

T T uited=i & fag efim & f
fafy o W& o/m 1 =9gw wifvw)

(a) T®

(b) =S O Ao

(c) N F=gEd AoE

(d) IR FHI=Ed Bys
71 e & Wl SR I T

(4)  (®) () (d), (a)
(B) (@), (b), (d), (o)
(©)  (©), (@), (b), (@)
(D) (@), ®), (0 (a)
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74.

75.

Select the correct sequence of training
stage for high performance.

(a)
(b)

Physique
Performance and the potential for

the performance

Talent indicators

(©)
(d)

emotional and

Cognitive,
experimentation

Find the correct answer from the code
given below :

(A) (@), ®) (), (3
B) (. () ®) @
(©)  (b), (d), @) (©)
(D) (@), (®), (o) (@)

Suggested guidelines for volume (in tons)
of strength during Transition period.
Match List - I with List - IT and find out
correct option using code given below :

List - I List - IT
(a) Shot-put (i) 2 tons
(b) Football @) 2-4tons
(c) Jumps (i) 4-6 tons
(d) Baseball @iv) 6 tons .
Code :

@ ® (9 (@
(A) O @ @) @)
(B) @ @) @) @
© @ @) @@ @
(D) (@) @v) @ @)

74.

75.

I frearea & forg e w1 1 wér sim
T T B

(a) TWR-TEA

(b)y Troare & faq froae aen awan

EIGEIRCED
HTeH, Wl SR TEn

()
(d)

1 e ¥ v SR 9@ St

(4) (d), ®) (© @)
B) (9 (), ®) ()
©)  (®) @) @) ©

‘(D) (@), (b)) ()

T T H Wi A (S F) ¥ fw
Hrfee geme feg 7w € et - 1w
T - 11§ gafaa = adn 71 e 4 a@
fohea %1 93 |

gt - 1 o - 10
(a) Wie-ge @H 2™
(b) A (@ 2-4%™
(© g (i) 4-6 =d
(d) <Hara (iv) 6 TT™
%<

@ (b) () (d)
Ay @ @ @) @)
(B) @) @) @v) ()
Q) G @v) @) @
(D) (@) @v) (@) (i)
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76.

77.

Which of the followmg is the beneflt of
exercise 2 -

@
(b)
(©)
(d)
Code ;-

(4) (@) and (9
B) () and (O
(©) () and (d)
(D) (d)and (@)

Reduee fat
Inj‘i‘u‘ies
Maintain blood pressure

Diseases

Arrange - the 'correct sequence of
management of infrastructure and
equipment.

(@) Care and maintenance of

~equipment
(b) Need for the equipment
(c)

(d)

Type of equlpment

Procedure for the purchase of
'equipment -

Find the correct answer from the
following:code :*

A4) (@), (©, () (d)
B ®) © @, @
© (@ @ ©, (®)
(D) (d), b), (©), ()

76.

77.

Forer 8 o )

ECilkeeoikd
T B
TR STTET
et

(a)
()
(0)
()
%e
(a) 3 (0)
B) () 3R (9
(c) ¥R (d)
(d) ¥R (a)

aaﬂi'aﬂramsqwéauﬁmwué’ra
! afka mife |

(a) SUHIUN hi TEUIRT G, ST
(b)
(©)
()

IYHTN & FHR |
IYH T &%

=1 %2 @ 9 S| I wifeT

(A)
(B)
©)
(D)

(@), (©), (b), (d)
(b), (). (d), (a)
(), @), (9), (b)
(d), (b), (), (2)
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78. Match List - X with List - Y : 78. §eR - X P e - Y & gafew w1

C List-X List - Y TR - X -y
(a) Reliability (i) Basketball (a) forgeretean () SEHIET.
(b) Carlson @) Motor (b) T (i) WW

educability ‘
() Methony (iii) Fatigue test (© Herft wem (u1) ‘Fﬁﬂ ?.'{2
Johnson
(d) Knox (iv) Test selection (d) == (iv) o Helwm
Code : H: | ‘
@ ® © (@ @ ® © @
A) Gv) @) @ @ (A) (v) @) @ @
® @ @ @ @) (B) @) ) @) (@v)
© O G @) () © @ @ @) @)
(D) () (@) @ () (D) @ (@) @ G
79. Match List - X with List - Y : 79. e - X F G - Y F W firem =
List - X List-Y Tl - X el - Y
(a) Reliability @  Split half @ frawim @) whe
(b) Norms " (i) Time (b) HES (i) <EH-
(c) Economy (i) Compare (c) HAefgaeen (iid) T=!%"JEI'<5I'{
(d) Validity (iv) Test-Retest (d) S | (iv) TR-few
Code : R X ‘ :
@ () (¢ (d @ () () @
A) (O @) @) @) &) @ @) @ G
(B) () () (v) @) (B) () @) (@) @)
€ (@v) @) @ @6 © @v) @) @ 6
(D) (@) @ @ @) (D) @) @) @ @)
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80.

81.

Arrange in sequence :

(a) Tabulation

(b) Suggestion

(c) Collection of score sheet

(d) Interpreting
Code :

@) @, @ ©)©
® @ 0@ ©
© @ ®) @ ©
©) © @), @, ®)

Arrange testing procedure :

(@) Orientation

(b) Recording of data

(c) Warming-up
(d) Field marking
Code :

A) @, © (@), O)
® (. @) © b)
© (© (@) (@) ®)
(D) (@), (), (@), (b)

80.

81.

(A) (D, @), (), ()
(B) (@), (b), (d), (9)
(©) (@), () @), ©
(D) ©. @), (@), ®)

RET TSR ol afeud I :
(a) i
(b) <= RFE wE
(c) oH-379 wT

(d) THITS AR

&) @) © @ ©
® @ @), © ©
© © @ @ 0
D) @ ©, @ ©
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82. Make a sequence of evaluation :
(a) Draw conclusions
(b)  Gather evidence
(c) Present findings

(d) Design of evaluation

Code :

(A) (b), (d), (c), (a)
(B) (b), (@), (c), (d)
©) (), () (), (@
(D) (d), (b), (a), ()

83. Which test item does not assess
strength ?
(A) Sit-up
(B) Chin-up
(©) Dips
(D) Sit and Rich

84. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

Tournaments are conducted to decide the
winners.

Reason (R) :

Tournaments are the compétitions to
measure the abilities of a team.

Code :

(A) (A) is correct, but (R) is wrong.

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are wrong,.

(D) (A) is wrong, but (R) is correct.

82.

83.

84.

TRl 1 Uk STehH =1 T T ;
(a) Trswd frerrer

(b) & THA FE

(c) Tr=rd wega e

(d) I v fesga

HRe '

(A) (), (d), (), (@

(B)  (b), (@), (), (d)

© () (o) (@), (D

(D) (@), (), @ ()

I W 2 AEH WK I Teelieh! Tl Ll ?

(A) He-31g
(B) feA-31w
(C) few

(D) fedsf=

AR T (A) T W/ROT (R) § =Hifwa &
%o f@ ™ )

AHA (A)

e 1 S s ) v w0
fow feman e €1

HIOT (R) :

ATy, woereid 2t ¥ foed S e e
w1 Freier feman <ima €1

%<

(A) (A) 5@ & WG (R) o 2

(B) (A) T (R) T Te ¥ |

(C) (A) T (R) I Tera ¥

(D) (A) TeTd 8, T (R) WE ¥
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85.

86.

Assertion (A) :

Supervision is an expert technical service
primarily concentrated with studying
and improving conditions that surround
learning and pupil growth.

Reason (R) :

Supervision is a planned programme for
a better teaching learning situation.

Code :
(A) (A) is true, but (R) is false.
(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(D) Both (A) and (R) are false.

Find the sequence of selecting the students
for activities suited on the basis of their

capacities.
(a) Needs (b) Sex
(c) Age (d) Interest

Find the correct answer from the
following code :

(A) (), (d) (), ()
B) (@), () (), ()
©) (©) () @), )
(D) (@), (), (©) (@)

85.

86.

AUFRAT (A) :

gIRfaST T JHR Wﬁﬁﬂﬂﬁ?ﬁﬁi‘%
St wafae dX W sl % faew qe
T % Fey § o7eaae e i ufif
T GuR W HiEd S g1

/T (R) : .‘
GRFATT 1 Wk sigal freor exfer o
Frefra sredsrm 2t €1

E TR

(A) (A) §9 &, T (R) 319 T

(B) (A) 375§, W (R) T ¥

(C) (A) T (R) SFf 9ca € iR (R
i TS A

(D) (A) 9T (R) S 378 ¥ |

forenfofall =t et et W ameia
wiicferferel < ford =/ < & Tt o1
=1 e | 9 FifT

(a) SAETIEHAT (b) fefm
(c) =g (d)_ &=

(4) (), (@) @), (0
(B) (@), (b), (d), (¢)
©)  (© ®), (a), (d)
(D) (), (), (0) (3)
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87.

Select the correct sequence from the 87.

following organization in University
Physical Education Programme.

(a) Vice-Chancellor
(b) Registrar

(c) Syndicate

(d) Sports Committee

Find the correct answer from the code
given below :

(A) (@) () (), (d)
(B) (b), (d), (a) ()
©) (@) @) (9 (®)
(D) (@), (b), (), ()

Dronacharya Award was constituted in 88.

the year :

(A) 1983
(B) 1984
(C) 1985

(D) 1986

Tavafaame™ iR foear wrfsa § =
Wil & W& ATHT 6 999 7 F2 |
EaiSid

(a) SU-Ferud

b) ER
(c) Ta<he

(d) Y wfafa

(4) @, (©, ®), (d)
(B) (b), (d), (a), ()
©) (@) @) (o) ®)

(D) (@), () () @

RO YRR Sl T 99 .
H &t TR off

(A) 1983
(B) 1984
(C) 1985

(D) 1986
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-89,

90.

Given below are two statements one
labelled as Assertion (A) a}'n'd ‘the other
labelled as Reason (R).

Assertion (A) :

The parabolic flight path of the centre of
gravity of the shot-put will depend on the
speed of release.

Reason (R) :

The delivery angle and the speed of
delivery will have a direct impact on the
parabolic flight path of the shot-put.

In this context of the above two
statements, which one:of the fol_lowmg is

correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanauon of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

©) (A) ib true, Bt (R) ié false

(D) (A) is false, but (R) is true,

Which is not a water borne djsgase ?
(A) Hydrophobia

(B) Jaundice

(C) Cholera

(D) Hepatitis A

89.

90.

=1 sifuerer (A) 9 ®ROT (R) § A7
QA HeT R T :

R (A) :

e~ &1 7o Fadh Jalicrsh SSH
ﬁﬁ]ﬁéﬁﬁwﬁgmﬁﬁim|

T (R) :

feefiat F qen fected wiE, e

WrEiferer 91 W Toqe THIE SR |

IR HUA % Heo § i W w82
¥ I Hifse |

(A) (A) T (R) 3 ¥ § 3R (R),
! GE AR B

(B) (A) T (R) 3 v & T (R)
G AT A& 1

(©) (A) T ¥, g (R) 319 £
(D) (A) 19 ¥, W (R) 9 2

mﬁﬁﬂmﬁwﬁﬂﬁ%'

(C) &
(D) TUeEfem A
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91.

92.

93.

What type of Fats are not hazardous to 91.

health ?

(A) Polyunsaturated
(B) Saturated

(C) Unsaturated

(D) Semisaturated

Arrange the following statistical terms in 92,

order :

(a) Collection of data
(b) Analysis

(c) Classification
(d) Interpretation
Code :

(A) (), (d), (© and (@)
(B) (@), (®), (© and (d)
(©). (@), (), (b) and (d)
(D) (). (@) (d)and (a)

Compute the standard error : 93.

Standard déviation =10, N=25
(A) 5.0
(B) 2.0
(© 0.2
(D) 25

W & fau ffa 9R = oo Sfens
TR ,

(A) ieftsREq
(B) WI<
(C) srEga
(D) erdwga

Tefeafea wifers! 1€ = % § =afen

HfT :
(a) THARM N T
(b) favewm

(c) TRt

(@) e

33_5

(A (®), (@), (© N (a)
(B) (@), (®), (©) IR (d)
© (@) © () 3R (@)
(D) (), (9), (@) ¥R (a)

" Ffe FegE FwifT |
T faer =10, N=25
(A) 5.0
(B) 2.0
(C) 0.2
(D) 25
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9.

95.

96.

Field goal speed test, throw for accuracy
and dribble tests are the test items of :

(A) Knox Basketball test
(B) French Frideal Hockey test
(C) MacDonald Soccer test

(D) Johnson Basketball test

If a test measured what it claimed to
measure, then the test is said to be :

(A) Reliable
(B) Valid

(C) Subjective
(D) Objective

The following parts come under special
lesson plan to teach major games :

(a) Specific warming-up

(b) Teaching fundamental skills
(c) Formal exercises

(d) Lead up activity

Code :

(A) (a) and (b) are correct.

(B) (b) and (c) are correct.

(©) (c) and (d) are correct.

(D) (a), (b) and (d) are correct.

94.

95.

96.

HiTeTel T %, 9 R TN a1 fgssa
*w, fpus 3w g ¥2

(A) T TEhe WA TR F
(B) Wd WhISH Bkl &= &H
(C) HwSHlce IR T= &
(D) S aRahe o S 6

e 3 ST ASA AT & TTeent o <
A § A SH YRR o ST 1 THEl SR :

(A)  fovaadta
(B) 3aw

© fowit
(D) fadh

& Gell o e § Fefefaa faftre we
ST % 3 ST ®©

(a) TEifHE FIfHT-319
(b) T PR B
(c) ST =

(d) vire-sm wRIfgd
e

(A) (a) 3 (b) WE T

(B) (b) 3R (c) W&t ¥
©) (o) 3R (d) T& T
(D) (a), (b) 3R (d) T T
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97.

98.

The following parts come under general 97.

lesson plan :

(a) Formal part

(b)  Specific warming-up
(¢) Recreational part

(d) Teaching techniqqe
Code :

(A) (a) and (b) are correct.
(B) (b) and (c) are correct.
(©) (c) and (d) are correct.

(D) (a) and (c) are correct.

Training for 100 m sprinting should  98.

concentrate on improving capacity of :
(A) ATP-PC system
(B) Aerobic system

(C) Lactic acid system and ATP-PC
system

(D) None of the above

e o T a1 T & s o €

(a) IHW U
(b) Effts AffT-aT

(c) Terlwgme o

(d) e faam

(A) (a) 3R (b) T T
(B) (b) R (o) W 1
Q) () 3R (4) T 1

(D) (a) 3R () W& €1

100 . T g ¥g = =t e M W
2 Ffrgd S 6T

(A) TIAGL-H. saEen
(B) ATerefiha woll aen

(C) ifee ufas aeen T T3 9. -4 4.
CZEE34)

(D) Ul H g el
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99. Fartleg training is also known as : 99. THIEAT EI'ﬁT%TUT e oft shgaman ©

(A) Speed play (A) e @

(B) Continuous method (B) oFMaR faedt

(C) Interval method (C) siaua fasht

(D) Weight training (D) 4R wfdrgro

100. Reliability of a test is : 100. W&o 1 fovarariear %1 o1 §

(A) Correct measurement (A) EE A

(B) Correct technique (B) W& I

(C) Repeating of measurement (C) CERd

(D) None of the above (D) S | HIE A&
-00o0- -00o0-
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St

I ifer W /T TR : 2 6T furaram ofe ;2

Time for marking answers : 2 Hours } {Maximum Marks : 2(

e

1. 39 W-YRas B 100 T ¥ - Ues U9 2 37 1 g1 eft U vt e ofard ® )

2. | TE % SR, & T OMR IW-¥Z (SE-¥Me) W Sifsha Hifsq |

3. RUIHE oA E foha Sen |

4. e off T ¥ Soget @1 A T TE AeEa BE H wEn aftd 2

5. OMR IW-Yie (STE-E) 1 T X IHT Tt HE TG 7 /I o I8 we 91 -
3gH s 71 factae onft ug R e Foraed a8 O 8 9l |

Note :

1.  This Question Booklet contains 100 questions. Each question carries 2 marks. Answer a
questions.

2.  Indicate your answers on the OMR Answer-Sheet provided.

3.  No negative marking will be done.

4. Use of any type of calculator or log table and mobile phone is prohibited.
While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not ge

torn or spoiled due to folds and wrinkles.
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